
ISRO Technical Asst. 2015 Paper



ME42/15 

3ffic'f mcfiR I Government of India 
� fm:rm I Department of Space 

� � 3@'fttJ � I VIKRAM SARABHAI SPACE CENTRE

f?t{>cla-ic'N{J.l / Thiruvananthapuram - 695 022 
_, 

c1cfi.fl4i'I ½tsl.Qcfi (� $Jl�.qfl). fttffl'. lf. 284 � '9A 9'! � [cl Qffjc1 trftffl 
WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICAL ASSISTANT (MECH. ENGG.), ADVT. NO. 284 

� �.1242 I Post No 1242 

�/Date: 08.02.2015 
� 3-l<fi/Maximum Marks : 60 
*-mlt cfiT ;;:rm/Name of the candidate : 

�/Time. 1 W/hour 30 �/minutes 
&�/Roll no. 

m-� � fc;J1J" 3$�r/lnstructions to the Candidates

1 . .  � � � � � � � m- k-� w cfi" 3fJUR tr{ 3fNcf>T Qru1a
qi'ra,r cfi" � Jll<HGlci � 'of<TT 6°1 3ffe; 3W@ � � :a::isra: \.lfclµz cfi'l" fi" <TI" Pill: fcl :n1qcr1 

cfi" � ,w®-a: �dlldl o-l"fil 00 E ill 3f11-FFt .fil-?ifitn: JFRl�'bd cfi'l" ar:c[Jl):1 
You have been called for the written test based on the online data furnished by you in the web application. If you have 
wrongly entered in the web or you do not possess the required qualification as per our advertisement your candidature 
will be rejected. 

2. qi'ra,r � � � cfi'l" � � tf JITq'q1T �-�c./1.f>lll!Jlq; tr{�� �I
You should sign the hall ticket I photograph only in the presence of the Invigilator in the examination hall.

3. -sr�a=r-� 60 'Sr�cr!T � <tcFci" 'Sr��-q�cfil cfi" � � 6°1
.:, .:, 

The Question paper is in the form of Question Booklet with 60 questions.

4. 'Sr�cr!T cfif 3CTR � cfi" � 3rc>m � 3(=cR-qf@cfil er -ar"Q"d'fr1
.:, 

A separate OMR answer sheet will be provided for answering the Questions. 

5. 3'91 aJff � � � 'Sr��-�cfil � fil (lrlifinft:�/f). 3®:!IJIR 3mJ gf@cfil 91
FaHa�c EJFr ii Q:rncr11 �I
Question booklet series code (A/B/C/D/E) printed on the tight hand top corner should be written in the OMR
answer sheet in the place provided.

P.T.O 



Enter your Name and Roll Number correctly in the question booklet. 

�I
All entries in the OMR answer sheet should be with blue/black ball point pen only. 

a. -crc; "tcI � <l'la<-1c11 ifi" 3mm" CR, ffiffila qi'ra=rr � xcm ifi" � cl@�lS6 � �
� � 

�. � � � "Q<F �����I
The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of 
which only one will be unambiguously correct. 

9. JTTtlcfiT, 3CTR-q \°@cfil � � 'J'fC! �IT Cfi" 3-laRITT', �� � Cfi" � � � �
�

.-r'M�� 

� � 

3ITQ'1f}TR 3CTR-qU:c1cfil � � 3-lTcfc>f qi)- � cRct � 3CTR cfiT � � 6'1
�

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

10. "QcF ��;;, ifi" � � 3m"{ � CR � xcR � J:IT<TTT �I � 3rrRT ifi" frN

crl J 1t'l cl 3fq, iif6l fc;m ;JlT(0T I
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.

11. ffiffila tJfr@ i.ic>lcrlcll<') ffisf ifi" 3:teJ <hv<.j_c' .. {, cfilc>l</y<')c::,, J.l��l$c>I m :am � $<')%1\'aicfi

Wfil, GTo-�. aTic .3-Tlfc; 'c>l1al � � iif6l tr �I
Computers, calculators, mobile phones and other electronic gadgets. text books. notes etc., will not be allowed inside
the written test hall.

12. qi'ra=rr 'CfUt � CR, 3ITQ'1f}TR 37cR-qU:c1cfil qi)- 3ilR Cfi" � � � � 3fR' �
� 

---

� � 

3ITQ'1f}TR xc=R-'j,R=cicfil �8.,q) qi)-� c,m � � 3TTW GR1 WI

On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.

13. ���-qR=cicfil �� � GR1 � � �I
�

The question booklet can be retained by the candidate.

14. qi'ra=rr ifi" mm tit ifi" � *� cfi)- qi'ra=rr � � � � � t,
�

Candidates are not permitted to leave the examination hall during the first hour of the examination.

1s. � cfi)- m� 'tcf c>1EFH�"1�-&�-� � ifi" � � ffi@a qi'ra=rr � 
� � � 

� 6'1 
The written test is conducted only to shortlist/screen-in the candidates for interview. 
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c1cfi;;ftcfi) ½tf>Fllcfi(mm)/TECHNICAL ASSISTANT(MECHANICAL) 

1. csl$it{OI � R � c;-arc,r � fi;ri:r / For maximum efficiency in multi-stage compressor
.:> 

2. 

(a) '€JZOlT � � cITTf qi)-� c119J.llcr1 c,cf; �� fcf>m ��/Air should be cooled to initial
.:> 

temperature between the stages

(b) � 'il'{"Uf cf;f c';lGf Jq9'fci � ITTcr1T �/Pressure ratio for each stage should be same

(c) � m1l'f � fi;ri:r fcf>m -Tm � � ITTcr1T �/Work done for each stage should be same

(d) 394c:fc1 �/All of the above

� � � t1 /For a two stage reciprocating air compressor, for minimum work required the 

intercooler pressure is given by 

(c) 

3. Vc'l1 m "il"sf; m:r c{csll$cr1 q:;r �T cITTf J.ITa,Cfi c;-arc=rr ···•·······•·········· � � 61 / Ideal air
� .:> 

standard efficiency of a closed cycle gas turbine depends on

(a) � "il"sf; � c';lGf 3fcr1"9Tc1'"/pressure ratio of the cycle only
.:> 

(b) � "il"sf; � c119J.llcr1 3fcil'9lci / temperature ratio of the cycle only
.:> 

(c) c119J.llcr1 � cftrr c';lGf 3fcil'9lci cJcri'T/both the temperature ratio and pressure ratio
.:> .:> 

(d) 39.Qc:fc1 R V<'i1 3ft" �/none of the above
.:> 

4. � '9TcR � fi;ri:r 3TTcfiTt R � cftIT � R cfid1 rn 6 ..................... 1 / The plant which is 

smaller in size and lower in weight for the same power, is 

(a) 3TT1l ro/Steam plant

(c) 3TT$".�. � ro/1.C engine plant

(b) m:r c.{csll$cr1 �/Gas turbine plant

(d) � ro/Diesel plant

5. V<'i1 .mm:rrt'r � � fi;ri:r � c';lGf Jq9'fci � f.-la��cfil � � ....................... wm1 / At the 

A 

critical pressure ratio for a convergent nozzle, the velocity at outlet will be 

(a) � � � 3TTUcfi"/More than sonic velocity

(b) � � � cfid1/Less than sonic velocity

(c) � � � �/Equal to sonic velocity

(d) 39.Qc:fc1 R V<'i1 3ft" �/None of the above
.:> 
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6. � � cf;'r" � qi)- ...................... � � Jr � fcnm � � ti / Ductility of a 
material can be defined as 
(a) � Jr � � � � mtr.=r � cf;'r" m/Ability to undergo large permanent

deformation in compression
(b) � � � t:fai:i;rrt:c; � cf;'r" ml Ability to recover its original form" � 
(c) C1G1lcf Jr � � fcl�qa, � mtr.=r � cf;'r" m/Ability to undergo large permanent

deformations in tension
(d) 39�cfc'i mfr/All of the above� 

7. � � Jr � cf;'r" �rc=raT ............................. ti/% of carbon in Cast iron is 

(a) <0.8% (b) <1.3% (c) >2% (d) >6.3%

8. Jiqti-1.01 � � Jr cii'tal-m m � �? Jiqti-1.01 ............................ � fc;Jv fcn"llT � �I/ Which 
is false statement about tempering? Tempering is done to 
(a) mfra:r.:r-� Jr � �/Improve machinability� � 
(b) � Jr � �/Improve ductility� 
(c) .3ffc11tq, i;i\?tislc>fl � Tu1cfil<4ci-l/�elease internal stresses

(d) cfiol-1.c'il c'1"m � qi)- cfi1:r �/Reduce hardness and brittleness� 

9. tfrc:rc;r Jr ................ "ITT"c'1T �I/Brass contains 

(a) 70% c=mrr 3fR 30% � / 70% copper and 30% zinc

(b) 70% c=mrr 3fR 30% fl.=r I 70% copper and 30% tin
(c) 30% c=mrr � 70% fl.=r/ 30% copper and 70% tin
(d) 60% c=mrr � 40% fl.=r / 60% copper and 40% tin

10. � -m"<4" � ('t[q.lRi.lRi.) ............................. � cfiT � �I / High Speed Steel (H.S.S) 
belongs to the category of 
(a) m..-m=r � �/medium-carbon steel

(b) � � �/high-carbon steel

(c) �� �/alloy steel� 
(d) � �/stainless steel

11. ;Jffi"-cfiohc11 .l-tl9sh.l-t Jr cfio1-1.c11 � 1 ............................ qi)- a'r � ti / The hardness number 

A 

1 of Moh's scale is assigned to 
(a) �/Quartz

(c) tmm"3f/Topaz � 

(b) �/Talc

(d) �/Diamond
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12. � terr cj,)- � � � � c,trr � � � � � � � � 61

� �� ....................... 61 / Surveying tapes are made of material having low coefficient of
.;) .;) 

expansion & enough strength. The alloy used is

(a) � �/Silver steel

(c) � mc=r/Monel metal
.;) 

(b) ��l<>ll.!.1/Hastelloy

(d) �/lnvar

13. 'Qcf; � � ...................... & cTT � �)" RTo'fT � 61/A fluid is said to be ideal, if it is 

(a) 3-1{i4"J$o1l.!.l/lncompressible
(b) �� ��/Zero viscosity
(c) rma1 c,trr 3-l-t-i41$o1"l.!.1/Viscous and incompressible
(d) � tltlcrlc-11/Low density

14. 10 fcl:;-. m. ?,c.!.IJ.llcrl � cfiT$" � � � * 5 fcl:;-:m. � � & � 61 3"tl" � * 'g' cf'T" �

( ............................... 61 / An object having 10 kg mass weighs 5 kg on a planet. The value of 'g' at
this planet is

(a) 5.0 m/sec2 (b) 4.9 m/sec2 (c) 10.2m/sec (d) 9.7 m/sec2 

1s. � * � � � � ft;rv � c;:_cfRT m "'11.Ac:11A q�o11c1-t"I c'Jif ................... tl"{ � cfi«lT 
61 /For a body floating in water, resultant pressure exerted by water acts at 

(a) ����/Bottom surface of body.
(b) � � � � � � � mar/Centroid of portion of body under water.
(c) � � � � mfr �3-IT/AII points on the surface of body
(d) ���/Centroid of body

16. � M &Mc1-t"lc.i � m- cfi)" � � � � � 6 m 9Tt � 2 �.J:tr. � � �
.............................. �.J:tr. � � tn" �I / If mercury in a barometer is replaced by water, 
the height of 2 cm of mercury will be following ................. cm of water 

(a) 27.2 cm (b) 50 cm (c) 52 cm (d) 13 cm

17. 25 m � � cf'T" cJil" .......................... � � 61 / A pressure of 25 m of head of water is 
equal to 

(a) 25 kN/m2 (b) 245 kN/m2 

(c) 2500 kN/m2 (d) 2.5 kN/m2 

18. 7. 5 fcl:;-. m. � rrm 0.01 m 3 3TT.!.l"c-l'cr � 'C!cfi � lll J.l I cfil -l cf'T" � . . • • . . . . . . • . . . . . . • . . . . • . . • • � � � 
� � * � "1TQ7TTI / An odd shaped body weighing 7.5 kg and occupying 0.01 m3 volume will 
be completely submerged in a fluid having specific gravity of 

(a) 1 (b) 1.2 (c) 1.7 (d) 0.75
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19. 1Jcf, ftis "B" ¢ ftis R � � � � t � I Heat flows from one body to other body when
they have

(a) � ..:lici�� a � �/� �-Different heat contents
(b} � � � �� �-Different specific heats 
(c) � 9'V,TOT � � "ITT"/Different atomic structure
(d} � cilqJ-llai � "ITT"/Different temperatures 

20. �.hiiR>'lrulci 1t � � ill<>1c:ficil � � 31'fuc:fi" 6? / Which of the following has maximum
value of thermal conductivity?

(a} c'!<>1l?l�llcl-l / Aluminium 
.:, 

(b} �/Steel 
(c} tfrc:rc;r/Brass (d} �/Copper 

21. c,T9 .fi.1-ilc:fi{UI Q= kA(t1-til/x Jr �� 'x/(kA)' ............................ ct� R ���I/ In the heat 
flow equation Q = kA(t1-tz}/x, the term 'x/(kA}' is known as 

(a} � �/Thermal resistance 
(b) � "JfOlTc:fi"/Thermal coefficient

.:, 

(c) � ill&ic:ficil/Thermal conductivity
(d) � � "JfOlTc:fi"/Heat transfer coefficient

.:, 

22. 1Jcf, mq � c:fiT cJ � � 1Jcf, ct 3i"q{" 1Jcf, � � � � 61 3CTfcl-l" qf4.011cH � /
.:, 

A steam pipe is to be insulated by two insulating materials put over each other. For best results

(a) � ct 3i"G"{" � Titro::r sR>faiT � 3-fi"t mzm Titro::r � 3i"G"{" / Better insulation should
be put over pipe and inferior one over it.

( b) � ct 3i"G"{" mzm Titro::r sR>faiT � 3-fi"t � Titro::r � 3i"G"{" / Inferior insulation
should be put over pipe and better one over it.

(c) cJaiT c:fiT fcF;m � sfi1f 1t sTill art!/Both may be put in any order.
( d) � ct 3i"G"{" mzm Titlo::r sR>faiT � <IT � Titro::r, � :mq- ci 19cl-lloi q"{" 3fITTlc=r �I /

Whether to put inferior one over pipe or the better one would depend on steam , 
temperature.

23. � ct � ct 3fa'RITT", � � ct � a:ia1�u� ........................... ct 311a1q1fc.lc:fi 61 / � �� � 
According to Planck's law, the wavelength corresponding to the maximum energy is proportional 
to 

(a) T (c) T3 
(d) 1/T

24. fcF;m � tjtj" 1t � � c:fiT � � � 6 � fac:tiRla � .............................. "ITT" 
� 61 /In a centrifugal pump, when the impeller speed is doubled, head developed becomes 

(a) 2 times (b} 1.414 times (c) 4 times (d) 1.5 times 
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25. � '€ffi>f c);- tj-q't cfiT fcH:iJ.-1 ............................. c);- 3-lloj,ql\?lch �I/ For pumps of same speed,
discharge is proportional to

(a) � e<ITTT/impeller diameter (D)
(c) D3 

(b) D2 

(d) 1/D3 

26. � c.{i:11$.-1 .......................... c);- � � � t1 / Francis turbine is best suited for

(a)
(b)
(c)
(d)

180 * 24m c,qi' c);- �"<rn' �M 3-l.-!'>l4�cll/medium head application from 24 to 180 m
j 

30m rfcf,1 cfiT � �M �/ low head installation upto 30 m
180m c);- � cfiT 3uT �M �/high head installation above 180 m

� � c);- �M/all types of heads

27. mt �t1Jo1 c=rm 3uT �fre;rr c);- � cfit.:f-* tltf chT � � � t? I For small discharge and
high heads which pump is preferred

(al � �/centrifugal type
(b) '>lc-41c1IIJ-t� i;fcf,R"/reciprocating type

(c) 3f� � �/axial flow type 
(dl 3rtT<:r � t;fcf,f{"/radial flow type

28. 'Qcfi" •:kc1lchl{ � � chT 3-ftWfcf,' � F c);- � � � 6 en- � 3-TYm /For a
c.. j 

circular cross-section beam subjected to a shearing force F, the maximum shear
F (al n;d2 (bl 

4F 

n:d2 (c) 
2F 

n;
d2 (dl 

F 

4n:d2

29. � � � � � J-ie\c-cl'lO� � arcfl' 6 � :ffi .................... c);- 3,$; � � 61 /

Resilience of a material is important, when it is subjected to

(al � '>l\?li:1('11/thermal stresses

(c) �/fatigue

(bl
(d)

t;:ftTT(1 ffi{UT/shock loading

?Z-rfic/wear and tear" " 

30.
� 

c);- 3,$; 'Qcfi" � * cfr.-1' � 3lR � � t1 t / Three different weights fall from a
certain height under vacuum. They will take 

A 

(al � c,qi' � c);- � 'Qcfi" � � AA/same time to reach earth
c.. j 

(bl � c,qi' � c);- � 3lR c);- 3-lloj,ql\?lch � AA/times proportional to weight to reach
earth 

(c) � c,qi' � c);- � 3lR c);- c'1c-sf>J-I 3111q1\?lch fJWl AA/times inversely proportional to
weight to reach earth 

(dl CJ_c/ioj,J-11.-1 aiffe � � �/unpredictable
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31. "Q'cf, � � F cfiT � cfi{a'1c1ic4 d clllflcit:TT D J:ft.""lf cllTfl" * "l!cFc, "Q'cf, � fB;i.T 11"
.:, 

� � f.A.hi-11,;n-m fumr � 6 /The shearing stress in a helical spring of wire diameter
.:, 

d and having mean diameter D, supporting a compressive load Fis given by

(a) 2FD 
K 

rrd3x 

(c) B
FD

xK
rrd3 

(b} 

(d) 

4FD 
K -x 

rrd3 
16FD 

K -x 
rrd3 

3 2. .3-Tfc1ftcfi" cllTfl" d cffffi "Q'cf, (101 a� c>! I cfil { �r CR" .3-Tfc1ftcfi" cJGf p � t I � �r � cfiT 
.:, 

c=r.,,-cr � er t <TT" cfiT�T cfi1'" c=ra=RTT (t) ---- � � tJA thin spherical shell of internal diameter d 
.:, 

is subjected to an internal pressure p. If a- is the tensile stress for the shell material, then thickness 
of the shell (t) is equal to 
(a) pd/2a- (b) pd/4cr (c) pd/a- (d) 4pd/a-

33. � � t;faN 11" � cfiT f.tfi" � 11" ra � � � � � ti/In the third angle
projection, the object is imagined to be placed

(a) H.P.� � c=fm V.P. � tfro:I Below H.P and behind V.P.

(b} H.P.� 3t:R" c=fm V.P. � �/ Above H.P and infront of V.P.

(c) H.P.� 3t:R" c=fm V.P. � tfro:/Above H.P and behind V.P.
(d) H.P.� � c=fm V.P. � �/Below H.P and infront of V.P.

34. "Q'cf;" � � ------ � cfcFci c;I' �'ttRT cfiT � tf An Oldham coupling connects two shafts,
.:, 

when they are

(a) SlRh,i).f?.a/lntersecting

(c) �/Coaxial

(b) �/Parallel

(d) �/Perpendicular

35. CJ@ m cfiT � ------- cfiT � cRc'IT tt CJ@ symbol in a drawing represents

(a) �T t;faN/Perspective projection (b) 

(d) 

'ci'ctl<l' � tJaN/ third angle projection 
C. .:, 

(c) � t:iG � / first angle projection

36. H7g6 "Q'cf, ------ 'ti H7g6 is a

(a) � � 3-ta-llilll-:rlit/Close running fit (b)
" " 

(c) � 3ia-llllll"'1it/Shrink fit (d) 
.:, 

� �/oblique projection 

cJGf .;tta-ll llll-:rlit/Push fit 
� 3ia-llill'i-:rlit/Press fit 

37. � � cf;lUf cfiT cf;lUf � 31m' 11" 3TTafci" cfiTc � * � CR" � cfiT01'1<r m;Jr � t;fcfiR'

�?/Conic section obtained by cutting a right circular cone by a section plane inclined to the axis
of the cone and cutting all the generators

(a) cfc11Circle (b) M c[m"1tllipse

(c) 4{c1c>tll/Parabola (d) ..:tlQ4{c1c>lf"tlcfi/Hyperbola
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38. 'Qcfi f.:n«:r "$.fr rm * � � (l;" � <>1k.-lctic4 Q'cfl � (l;" mfu GT fo:rtnfu:r � * �
�/ Curve generated by a fixed point on the circumference of a circle which rolls without slipping 
along a fixed straight line. 

(a) \.lk14>¢;;,:J/lnvolute
(c) mc:T/Spiral

(b) 
(d) 

�/Cycloid 

cfisfi!a1�/ Helix 

39. mftfa:far * ----- (l;" fc4"v cfifvT � � � tJcutting fluid is employed in machining for
" 

(a) 39c:fi{0I � c:fil1f c:fiT '5sf � /cooling the tool and the job

(b) � � * � /lubricate at the rubbing surfaces

(c) m� � c:fiT � �/cleaning the machining zone

(d) 39{'rc:fc1 -mfr/all of the above

40. � � mftfa:far * ------ (l;" cfiRUT m;i::ror � � tJMaterial removal takes place in
Abrasive Jet Machining due to

(a) � m-u:l.lf.-lc:fi fit;m/electrochemical action-� 

(b) <lif:rcf; �/mechanical impact
(c) � cfiT .P,fffi1 WT/fatigue failure of the material

(d) � GT fq:,fil'a1a1/sparking on impact� 

41. � 6H ------- c:fiT r.Jr.r1T <fit cTT � * 3fiaR .3ITTT � � c,q; c!i'1l �/Tool life in
3�-.. � 

turning will decrease by maximum extent if we double the

(a) � �/ depth of cut

(c) � cm/cutting velocity

(b) tJmUT/feed

(d) 3fiaR ai'fct 'c:fiTOT/ tool rake angle

42. 3icfC<1" � i;rfsm:rr * ------ � ti Cold working process increase ___ _

(a) � �rfctn/ impact strength

(b) �/ductility

(c) etl:l'fcfi{OI � �rc=rcnlpercentage of elongation
(d) .P,fffi1 �/ fatigue strength

43. � .3ITTT (T) � * c=rm � � (V)m/min * ti The relationship between tool life (T) in� 
minutes and cutting speed (V) in m/min is 

(a) V"T=C (b) VT"=C

A 

(c) V/T"=C

9 

(d) V"/T=C
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44. Fo-lkifc.1rul{1 "Jr * m-� � � "Jr � $Jlcf?;;ls1 cfiT i;n:IT7T fct>m arc=rr �"/Consumable
electrodes are used in which of these welding process?

(a) tr�/TIG (b) -c:rn-�/MIG (c) · zjm'fThermit (d) �/ Laser

45. � 3rm. a('"sa1�<1 � m -----6/Material best weldable with itself is

(a) � �/Stainless steel (b) �/copper
(c) Q�H1Fo-l<1J.i/aluminium (d) � �/mild steel

46. fo:lkifc.1rul{1 * * OOT 1ITTT m-� 61 Which of the following is a vector quantity?

(a) ¢;c<lJ.llcri/mass
(c) ffl/angle

(b) ffl/momentum
(d) �/speed

47. � "Qcf; ttJ.lch'101 "Jr cJ �. � p cf;" � q�J.llUI "Jr, � � rTT" � ™• fciq"fu:r �TT "Jr ( 

3tt'cfi" � *---- q�J.l101 "Jr cfrmT � � Cl"{ � ITT �/If two forces each
equal to P in magnitude act at right angles, their effect may be neutralized by a third force acting
along their bisector in opposite direction whose magnitude is equal to

(a) 2P (b) P/2 (c) ../2P (d) p/v2

48. 3iUntR �TT cfi" 0 ffl R" "Qcf; i;i-� cfiT � fct>m arcTT 61 0 --- � Cl"{ � � ta'
� tITTTTI/ A projectile is fired at an angle 8 to the vertical. Its horizontal range will be
maximum when 8 is

(a) 30° (b) 45° ( c) 60° (d) 90° 

49. "Qcf; � � fcRm � * Sm per sec cfi" � ('q"{OT * � 61 S sec "Jr � ---- �
� cf;)" � 611 A body moves, from rest with a constant acceleration of 5 m per sec. The
distance covered in 5 sec is most nearly

(a) 38 m (b) 62.5 m (c) 96 m (d) 124 m

so. � w � "Qqi � � m "Qqi � cf;)" '<TTfi � � :l=!R w �.m. 61 -m ti"{ * WcR � 

A 

"Qcf; � � � � * "cgl u,� cfc:f, � * � � ........................ :l=!R cfiT � . " 1-..... .::, .::, 

fct>ml / A thief stole a box full of jewelry of W kg and while carrying it on his head jumped down 
from third storey of the building. Before he reached the ground, he experienced a load of 

(a) �Flzero
(c) w * c!,J.l"/less than w

(b) Jm/infinite
(d) w * �/greater than w
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51. cfi'to:r-* � � 3lamf{, � � � � t � � �T � � H �Ma1c-1 � 10°c
� 

q�,fr�crl � fi;lv 0°c � 3fCfar � � H 1/273c=fcf; c!iT q�a�crl cR'cTT t? / According to which
law, all perfect gases change in volume by 1/273th of their original volume at 0°C for every 10° C
change in temperature when pressure remains constant
(a) � �/Joule's law (b) � �/Boyles's law
(c) �-C'l-R-ilcfi �/Gay-Lussac law (d) � f.:r<:r;J:r/Charle's law

� 

52. �J-o-1fc>'lffilc1 H cfi'ta:r-m 'Q"cfi" gum;ft c!iT � t? / Which of the following is the property of a
system?
(a) � c=rm c1IqJ-lIcrl/Pressure and temperature
(b) .3ffcTitcfi' �/Internal energy
(c) � c=rm .fitla-lc-ll/Volume and density
(d) 3q�cfc1 �/All of the above

� 

53. 210°c � 'Q"cfi" �T � cf;)' � � � � c=fcf; � � H cTTftra fcf;-m � tI 3ffc:t'R'
c1IqJ-1Io1 ..................................... tI / A perfect gas at 270°C is heated at constant pressure till its
volume is double. The final temperature is
(a) 54° C . (b) 327° C (c) 108° ( (d) 600° C

54. 'Q"cfi" .fiJ-lc-ll4� mm H � � 3iUT3IT c:f;'r' .3ficntcfi' 3i-:ir / In an isothermal process, the internal
� 

energy of gas molecules
(a) � ttlncrease
(b) UGcfr ttDecrease
(c) � � ttRemains constant
(d) � � � � � � �/tTVTT / May increase/decrease depending on the

� 

properties of gas

55. 2 �.CIJT. � 500 kJ � � t � 1000 C * 2000 C c=fcf; � aIqJ-lloi q�aJcr1 � .mfta �
tI � � � � qcJU' c!iT 3mrc:r � 3TTcm .............................. �I/ 2kg of substance 
receives 500 kJ and undergoes a temperature change from 1000 C to 2000 C. The average specific 
heat of substance during the process will be 
(a) 5 kJ/(kg°K) (b) 2.5 kJ/(kg°K) (c) 10 kJ/(kg°K) (d) 25 kJ/(kg°K)

56. � ............................. � � fa-q'fic:r � � 6 en- � � � c:f;'r' .3ffcTitcf,' 3i-:ir 

A 

H t;Ma1c>11 q�aJo-1 3faft, � � � �I/ Change in internal energy in a closed system is 
equal to heat transferred if the reversible process takes place at constant 
(a) �/Pressure
(c) �/Volume

(b) aIqJ-1Io1/Temperature
(d) � 3i-:ir/lnternal energy
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57. � t:.Tcfi 'ciN � 100 �R, � "c;'ffi=IT � cfiT(TT 6 en- % ................................... cf,f 
3<>-c-iElcr1 cfiT<iT 6"1 / If a heat engine attains 100% thermal efficiency, it violates 

(a) � � * �ro=.:ra- �/Zeroth law of thermodynamics
" 

(b) � � * 1F.m �/First law of thermodynamics

(c) � � * e;_fclc1�ll �/Second law of thermodynamics

(d) 3q:iicfc1 � �/All of the above laws
.j 

58. fcR:fr cfi'1R * m t:.Tcfi "cl'T<'I {nfi,:ij{c{ cf,f c.clITT &c>li(§.lsl df<TTI fo-t.hrlffiru1a ar cfi'ta:f-m � ti6I'
" ' .j 

t ? J The door of a running refrigerator inside a room was left open. Which of the following
statements is correct?

(a) cfiWT {�,:il{c{ � m * a1qJ-11cr1 * � �� ITT �,/The room will be cooled to
the temperature inside the refrigerator

(b) cfiWT � cnH �� ITT �/The room will be cooled very slightly
.j 

(c) cfiWT �-* m1=f ITT �/The room will be gradually warmed up 

(d) cfi'1R * m * crn:r cf,f a1qJ.11cr1 � W'1TTI /The temperature of the air in room will 
.j 

remain unaffected 

59. � 1Rd1 qy;fr 3ffi c5sT tTiafl' cfi)" f.A c>l Ill I � 6 cTI" � � cf,f � ................... ./ 
If hot water and cold water are mixed, then the entropy of the system will

(a) � �/Increase 

(b) 'Elc �/Decrease 

(c) 3-tq�clfcfo {PTT/remains same 

(d) 1R'H qy;fr � 35T qy;fr * � a1qJ.11cr1 tR � � �/"ElVTT / May 
increase/decrease depending on initial temperature of hot water and cold water 

( 

60. #<fc, <'i:f tR" t:.Tcfi � * � � � aW 'ciN * � q;r cJ � � � � � ( 

A 

� ti ......................... * cfiRUT � mrcr t1 / During a process on the closed s�stem, its 
internal energy increases by twice the units than heat added to it. It is possible due to 

(a) .3-ITTfCl'ra * fclf.t;{UI ci'TtT/Radiation of heat from the surroundings

(b) 

(c) 

(d) 

a1qJ.11cr1 ar �/Increasing of temperature 
C. 

� � ar � cfiT<l * fo-tlS.q1c;cr1/Performing of shaft work on the system 

� � �Ne cfiT<l q;r P!(S,q1c;cr1/Performing of shaft work by the system. 
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